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He tied it with something that holds it; it brings Toom’oh to it

Overview

X1 ruled that (to make an 217°Y) the ships can be tied together even with a ©vn
52707,! as long as it holds the ships together. The X3 continues that this ruling was
said by 9&mw to distinguish it from a seemingly contradictory ruling of Xwaw.
Regarding Xm0 the mawn states that if he tied a ship with something that can hold it,
this will bring &m0 to the ship. PXmw commented regarding this 7wn that the ship
was tied with iron chains. There is a dispute between *"w1 and N501N how to explain
the mawn and s">X 1w ruling there.

= 9N IR TAN IYNRIY 1D 20900P2 Y9
>""w9 explained the case of 7Xn1Y that it is discussing a situation where for instance
one end (of the chain) was tied to a tent in which there was a corpse —

mooin disagrees with >"wAo:
= ININYTY NN NIY N1 HNNYWTN SPIANRD 9INRD INNT NTH 1917 XD

And this cannot be the vw», firstly, why does the X3 say that the ruling of YXmnw
by naw is different from the other ruling of ®Xmw by 7xmv, what connection is

there from this ruling of Y% by naw to the ruling of »Raw by mxmmw -
- 4995UH DIV RYY 399N XID $90 29N BIVN N DN

Since there regarding nXmv, the reason why we require 2112 22 now5w is because
of the ruling ®»m> X377 >77 291, but it has nothing to do with tying® -

A second question on *"w15:

!'See v "7 >"wA that it is thread that is used to tie the neckline of a cloak.
29372 n".
3 The 770 writes (T0,0° [NPR] 72722) that 2% NYAW RL® A A2 IR 297 9912 "N v WK 921 We derive from 271 590
(killed by a sword) that the 2711 (or any metal utensil) which comes into contact with a n» has the same level of IRM™W
as the 9% (the corpse); just as the corpse is an 78?7 N12K *aX the same applies to the 277 (or utensil).
4 See the following X3 on this Ty and >"w75. In order for the ship to become an 8™ 2Rk (and be Xnwvn the 273 in
the ship) it must come into contact with an 7Xn1w7 M2K *2x (which is a N1 [usually]). However because of the ruling
of 9515 X177 °777 2117 a metal utensil which comes in contact with a nn is an 78207 MK *2X, and when this metal touches
the ship, the ship becomes an 78077 28 and it can be Xnwun the 0992 to become a IRMV? MWK, A 93 can be IRMW 22pn
from an 78”07 28 only, not from a ARMIV? NWRA.
5 There is seemingly no connection between these two rulings that it is even necessary to distinguish between them.
Here we require a certain (minimal) level of being connected; there we require the connection be with metal. Why
does the X3 say that this ruling here is >P19X? the ruling by nxnw?!
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And additionally why does the 71wn there state 79wp (that he tied it to the ship);
even if the chain was lying on the ship without being tied to the ship, the ship
would still be fxnw —

Another difficulty with *"w92:
= 9915 NYN 29N 39NT NXTNA )YNYILT T

And furthermore let the 71w inform us explicitly that %9m5 X7 99577 29775 why state
a case with ship which is attached to n»ni7 2R through a 212 5w now5w; all this is unnecessary —

One final difficulty with >"w99 -
— 7N AN IV ND 1) ANNIV NNAN PYD

And the expression ‘bringing the 7x»w' (which the miwn states) is inapplicable
in this manner —

moon offers his explanation of that mwn:
= $SANMIVN NN NN NIR ANMIVN NN N X221 19209) XIT HNINIY 13%39Y NN

And it is the view of the 0"2w= that we do not read 82 7% X°2» (it brings the

R™Y to it [the ship]), rather the X077 is IRPIWVT AR AR%2% (it brings the xRM™W)

without the word 777 (to it [the ship]) -
- PRSI NI PRI XY 1IN 931D N2 71T XY (n mvm) THIINT /A 9993 X¥D 1IUm)

And this is a mwn in the eighth P25 of M¥»7X noon, and the beginning of this

section reads, ‘these do not bring 7x%mv and do not block the xmW -
= 099 9 DY NVY RINY NI’V NAININN NHYDVI NN IYNI DIYITN

Plants and a flying bird and a garment waving in the air and a boat which is

floating on the surface of the water’. This concludes the citation from the mwn -
= 9NN I8 NNV TAN T80 DN HNHN V> DORY UIN9

The explanation of PX*an X7 19X is that if underneath any of these items
mentioned, there is a corpse on one side, and something which is 9771 on the other

side; the rule is that any of these mentioned items -
= NN DIYIVINY 119 DAN 22OWUN NDT NN 18D NT 181D ANV INAN NN

¢ This indicates that we are not discussing that the %1 of the n>wvw (from the n»i 77X) is being transferred to the
ship; for if that were the case, touching the ship would be sufficient to transfer the TRmW.
7 The chain is not bringing any 7x21 to the ship; rather it is Xnun the ship because it is in contact with it. The W% of
XMW X7 usually applies to objects under an N7 PR where the 778 brings the 7xmw from the n» to the object, even
though there is no physical contact between the object and the nn.
8 We are not discussing at all now the %m0 of the ship.
9 This indicates that we are discussing 278 nxm™0.
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Cannot bring the 782 from this side (where the n» is) to the other side (where
the 177w is), for these items are not considered an ®;78 (which can bring 782 to
anything underneath it). These items are not considered an 77X, since they are

continually moving'’ -
- ARMVLN AR ANV NPRYNN 9272 NIYP ONT SINP)

And then the mwn teaches that if he tied it (the ship) with something which holds

it (in one place) it can bring the X% from the n» underneath the ship and be Xnun any

mav which are underneath the ship, for then it is considered an 27X. This concludes the mawn.
= D193 HY MNIYHYA NIVYPY NIN) HNINY WI910)

And PXmw explained the miwn that this rule is valid provided that he tied it with

iron chains. mooin explains -
- YDA DTN NYIPIND NNV 1Y PN NIUPY 9193 XIN 115192 HY 0P XPIT IND)

And %%mv did not mention iron chains exclusively (that chains from other
materials would not suffice), but rather what X% meant was that he tied it
strongly so it cannot wander and move from its place —

Mmoo justifies the use of 7172 even though it does not necessarily mean 712 exclusively:
= D193 9991 PN 927 99INY NRIWD 7971

And that is the manner that when the X773 desires to mention something strong

it uses the term %192 (iron) -
= (3,n% 97 np) 12ZNPOON NN D92 HY NYINM II29N 15

Like the X723 states ‘even a partition of iron cannot separate between 7"23pm >R’ -
- 1997925 YWY INPINNA )V 299 (x,09 97 xnp a3y 129192 INY YD) 199)

And like the term 9792 I8% "021 (iron sheep assets), they are called so because they
are guaranteed by the husband and are hard (assets) like iron; they cannot lose value —

m»oIN continues to explain the continuation of the X 3:
= NID WIWY HOND NIN 91 290 290 HDNA 29057 NIN NIV 1239Y 15)309) XY

19 The plants sway with the wind as well as the 91937 N0, etc. The ship is moving as well, so there is no 78 NRAW

under a floating ship.

" According to >"wn the word 912 was specific, for only metal can transfer X to make the ship an Ax™W7 28 See

footnote 4). However according to 'oin the term 7172 5w MRWSW is merely an expression as '01n explains.

12 This is referring to 037577 N272 that even if there is a 7% N between the 0°172 and the ay, it is not °oon.

13 5172 1x% >001 refers to assets which the woman brings into the marriage. They are assessed at their value and the

husband guarantees (backed by his assets) that the woman will receive their full value if he dies or divorces her. Any

loss or profit from these assets belong to the husband, but the wife is guaranteed the principal. This is in contrast to

291 °031 where any profit or loss is the wife’s and there is no guarantee.

14 In any even we see that the term 9112 need not be taken literally.

15 We are now discussing the explanation which the X713 gives regarding the difference between 7X@ here (where a
3

TosfosInEnglish.com



WP "7 'oIn 2,8p Naw .7"02

And we are not 3 in the X713 the following; 297 297 12 29027 RI17 IN2IW Iy’
"o X7 91316 we are not 0713 this and it is a mistake (contrary to the X0 in our texts) —

Mmoo explains how this mistaken X07°3 came about:
= 9HND NIN 29N 29NT DIVN NNPYLT 9210 7990 D193 HY MINDYIY LPIT DIVN NON

It is only because the phrase 7192 »@ nIR>ww was mentioned, so they made this

error assuming that the reason is because %912 X7 9777 2917; however according to

mooIn the ruling of HRww has nothing in common with 5912 X171 77 290 -
= 991909 NI RNOY AN 139527 ANMIV 1YY Y991 931 19909) KON

But rather we are 2913, ‘when do we require a strong bond, only regarding 7%

since we require a tent which is completely at rest’ -
$90 Y2900 VINA HNN MY DIYN NI DYLHY NAY 23X VAN

However regarding naw where the reason is in order to make the ships into one
M=, a 9ane7 v is sufficient.

Summary
According to >"w1 we are discussing that the ship becomes an X217 2R by touching

the iron chain; however according to NMoo1n we wish to make the ship into a stable
(non-moving) 27X; the material of the chain is irrelevant.

Thinking it over
Why indeed does an 97X need to be completely 127 and not by Pa17°w noba?!8

529077 v is sufficient) and YR there (who requires 212 W NMXYWHW, a strong connecting bond).
16 We are not discussing how the ship becomes &nv (according to '01n), rather how the ship can become a stationary
SnX. This has no connection to 9713 X371 > 29,
17 This refers to those who copied by hand the text of the na.
18 See naw naxon.
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